Math 150
Final Exam )
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1. (5 points)  Let y(z) = 527 + 42 + m +22% — 422 — 8z + 3. Use the linearization of y
to approximate y(2.0022)
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4. (5 points)  The radius r of a sphere is decreasing at a rate of 3 centimeters per second,
how fast is the volume V changing when the radius is 2 centimeters long?
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5. (5 points) Let €2 be the region bounded by: y = z* between x = 1 and z = 2. Find
the volume of the solid obtained by revolving € about the line [
meters] E =} l
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6. (5 points)  Find y"given y = é- / : \/:T:J da
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7. (5 points) The U.S. Postal Service will accept a package for domestic shipment only
if the sum of its length and girth (distance around) does not exceed 108 inches. What
are the dimensions of the largest cylindrical container that can be shipped?
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V= V(o) = me(108-2mc)

3
= w?'ﬂrl-» I c , G“Cﬂ

F&_ ;Lfé,-n’r__ éTf'lrl-_:O [IJLQ,-‘QUQP 6’?1‘(‘(35—7(() = O, B\Jd—
&T T
. . '!

o = 14‘; efi N {J"‘Sh‘*“‘u extcenma O/E{ \/(r)_ (,JQ do a |st
r # 0 / md /7| — \i | )

: _ + = - ‘[ .y ﬁ‘
A0 rival Lt t@jﬂ ’L/f[_——‘ - r,f V (7). H A Ch ngl “

e i< , 0
) A ¥ el ? }é o _ .gf}__/ 0
S\-‘]V\ dL VIF) amnnd Cy Y= 36 /’\/UWF‘ v"'(?) — 216 =|)T L’T\_,) >
= - r

36
(mex = 77 and 1"?-/\&,.{ =10 3 —2T Cpuy = 36,



8. (5 points) The interval [0, 8] has been partitioned into n subintervals and a Riemann
Sum for y = f(x) has been computed:
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9. (5 points) Find (and identify) all relative extrema (if any) of y = f(z).
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10. (5 points) Find the intervals of concavity and all points of inflection (if any) of
y = f(2). X Y )
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11. (5 points) xira C’redzt Let f(z) = 2°+2z—1. Use Newton s methocia to approximate
to 8 decimal places the z-intercept of y = f(z).
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